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General Instructions/ I forder
1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting, Faculty

and Name of the Subject on the OMR Answer Sheet in the space Provided. Put Your Full
Signature on the OMR Answer Sheet in the space Provided.
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2. There are 40 Multiple Choice Questions in all.

BA 40 ITg-Tamed=r ueel

3. All questions are Compulsory. Each question carries 1 mark.
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4. Four Options are given for each question. Choose the most suitable option and indicate
it by blackening the appropriate circle [@] in the OMR Answer Sheet given separately. Use
only Blue/Black Ball-Point Pen. The use of Pencil is not allowed.
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5. Before leaving the examination hall hand over the OMR Answer sheet to the invigilator.
You are allowed to take the question paper with you.
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Adhere to the instructions above very carefully otherwise your OMR

Answer Sheet will be invalid and will not be evaluated.
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96.0083 # fohell Wi ey € 7

How many significant figures are there in 96.0083?

(A)2 (B) 4 ©6 (D)7

HGa fafyr § (1205 @G & AHE 79 @ —

The value of (1205)2 correct to lakh by contracted method is -

(A) 12 x 10° B)15x 10°  (C)5x10” (D) 12 x 5°

25.366215 X 0.043467 B Ad ¥U H ford |

Write 25.366215 x 0.043467 in standard form.

(A) 25.366215 x 4.3467 (B) 25.366125 x 434.67

(C) 2.5366215 x 43.467 (D) 25366215 x 4.3467

5.6 x 0.00782 BT AFG ©9 BT |

The standard form of 5.6 x 0.00782 will be -

(A) 566.0 x 7.82  (B) .0056 x 7.82 (C) 5.66 x 0.782 (D) 56.6 x 0.0782
10082+78.2 T I S¥HAT & Udb 3 dcb Y (~Iehred |

Find the value of 10082+ 78.2 correct to one place of decimal -

(A) 128.9 (B) 128.93 (©) 129 (D) 128

g™ 7 {31 5 %100 3R M 10 &A1 H 125 AT 8| D] HHE BT U © —

Shyam earns ¥100 in 7 day’s and Ram earns %125 in 10 day’s. The ratio of their earnings is -

(A)5:3 (B)10: 12 (©)8:7 (D) 10:8
I 3R 8T BT A 3 1 7 BT UK 2| 5 G 9IS ITDI AY H 4 : 5 BT UK B SR |
SD! G AT 2 |

The ages of Nitu and Neha are in the ratio of 3 : 5. After 5 years, their ages will be in the ratio

of 4 : 5. Their present ages are -
(A)3 GL Uq 5 Gl (3 year’sand 5 year’s) (B)6 GL Tqd 10 GL (6 year’s and 10 year’s)
(C) 4 q¥ 7q 5 9 (4 year’s and 5 year’s) (D)9 qg Tq 15 I (9 year’s and 15 year’s)

X T Y FRIGR € O M T I &l 3 0 2 & 39 ¥ dicd 21  Z 7l i%wzﬁﬁm
AIEIER T | @M faWTor &l = oigumd @ —

X and Y are partners who share profits and losses in the ratio of 3 : 2. The take Z as partner

for % share of profit. The new profit sharing ratio is -

(A) 3:2:4 (B)1:2:3 ©) 1:1:1 (D) 9:6:5
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64 T 81 & dr9 Hed FHMUT @ —

The mean proportional between 64 and 81 is -

(A) 72 B) 9 (C) 64 (D) 81

4:5:8:x H x @1 AM 8 —

The value of xin 4:5:8:x 1is-

(A)2 (B) 20 ©) 10 D)5

I TH W DI IJATS 10 AR 20 o # R § A1 WA D JaTg 8 o H B arel Aolgy
EIG IR

If 10 labours plough of field in 20 days then the number of labours for ploughing the same
field in 8 days will be -

(A) 25 B) 4 (C) 24 (D) 20
i S5:x=y:3 ?‘ﬁxyz?

If5:x=y:3, thenxy =?
(A) 25 (B)% ) % D) 15

28 : 70 BT AT TY & —

28 : 70 in its minimum from is -

(A)2:5 (B)5:2 ©)1:2 (D)10:1

IS 6 3 4 A T VIR, 6 Wd 12 [ & X6 AT 16 TR 4 RIS S SRR & @l 120

3 &1 eI FT 21 o1 1 NI BT o4 T 1.80 8 |

6 mangoes are equal to 4 apple, 6 apples are equal to 12 oranges and 16 oranges are equal to 4

coconuts. If the cost of one coconut is I 1.80, then lost of 120 mangoes is -

(AT 72 B)T 60 (©)X 50 DT 12
I T 100 = 2 SR, 1 SR = 60 BT T T 1000 = ? T |

If 100=%2,$1=060Taka the ¥ 1000 =? Taka.

(A) 1,000 (B) 1,200 (©) 1,100 (D) 120
I 15 SR =T 700, T fb™ TUY 39 SR & IRISR BT ?

If 15 dollar =% 700, how many rupees are equal to 39 dollar ?

(A)X 1,700 (B) 1,820 (©)X 2,000 (D)X 3,900
e 71 gIRT Ul "UeT 45 HidT B M BT Be ADvS H b PN |

Express by chain rule, a speed of 45 mile per hour in feet per second.

(A)3 ™c ufd e (3Feet per second) (B) 66 |c i v (66Feet per second)
(C) 20 B IS (20Feet per second) (D)6 e IR (6Feet per second)

% 30 7T TS B &R ¥ 65 VST Bl Aed T —

The price of 65 eggs @ I 30 per dozen is -

(A) T 162.50 (B) % 16.25 (C)% 1625 (D)X 150
A 1 Reffes U9 &1 99 % 3.50 &1 a1 110 Refee W1 @1 qo1 2T —
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If the price of 1 Reynold pen is  3.50 then the price of 110 Reynold pens will be -

(A) T 350 (B) ¥ 3850 (C)T 385 (D) T 3500
90 BT 9% = -2

9% of 90 = —--7-

(A) 80 (B) 9 (C) 81 (D) 8.1

5 9, 1 febetram feberm wfcrerar @ 2

What percent is 5 grams of 1 kg ?

(A) 0.5% (B) 5% (C) 50% (D) 0.05%
forell @Ifth 7 U a%g I T 4,500 H TRIST 3R T 5400 ¥ <1 | Hfererd o & —

A man purchased an article at I 4,500 and sold it at X 5,400. The percentage of profit is -

(A) 25% (B) 30% (©) 28% D) 20%

(A) 50% (B) 33% (C) 60% (D) 100%

0216= ---7--- %

(A) 21.6% (B) 25% (©) 2% D) 2.1%

&I = ----?----

Interest = ----7----

(A) A — HeTe T (Amount - Principal) (B) Asred + Hele T (Amount + Principal)
© A3 + & (Amount + Interest) D) fAsted x Het&T (Amount x Principal)

%5000 W 4% dlfYe X | 3 HEH T ol & —

The interest on T 5,000 @ 4% per annum for 3 months is -

(A) X5 (B) 500 (C) %50 (D) X 100

febere qa H 59% a1 ARIRY &7l Dl &% 4 fobell o & A | 40% gl Il ?

In what time the value of a certain sum of money will increase by 40% at the rate of 5% per
annum simple interest ?

(A) 599 (5 Years) (B) 4qY (4 Years) (C) 8Ty (8 Years) (D) 298 (2 Years)
TY F Ed 9 T 3,500 AHRY &G R SYR foRIT| 4 99 & 918 TN qEd B T 4,200
T AT & o AT B X 8 —

Manish borrowed ¥ 3,500 from Raghav on simple interest. After 4 years Manish pays back
< 4,200 then the rate of interest is -

(A) 4% (B) 5% (C) 6% D) 7%

AR R T B Al Ihglg AT FERY @A H .......?........ BRI & |

If the rate is same then compound interest is .....7...... than simple interest.
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(A) 31t (More) (B) dH (Less) (C) RTEN (Equal) (D) [T (Zero)
% 8,000 W 4% d1ie <X H 3 qY BT Ashqle ATl BT —

The compound interest of X 8,000 at 4% per annum for 3 years will be -

(A) 2,000 (B) 1,000 (C) ¥3,000 (D) % 4,000

% 2,000 BT 5% A X A 2 qY BT Ahglyg 1ol T AR AT HI IFTR ST —

The difference between compound interest and simple interest on I 2,000 at 5% per annum

for 2 years will be -

(A) X5 (B) %10 (©) 15 (D) X 20

/= o & DI |1 W © ?

Which of the following is correct ?

. PxRxT PxR PxT PxR
A)I= B) I= O I= D) I=

(A) 100 ®) 100 © 100 ®)

I AT od T 80 & &R sy #ew T 72 &1 A o A &I 1wl © -
The percentage of profit or loss if the cost price is I 80 and selling price is X 72 -
(A) 10%e™ (10% Profit) (B) 10%8T (10% Loss)

(C) 20% ™ (20% Profit) (D) 20%EI(+ (20% Loss)

U fth o G ag P T 44 H 91 AR A AR BT LA FHAT| TG BT A
T -

A man sold an article for ¥ 44, gaining % 0 of his cost. The cost price of the article is -
(A) %40 (B) ¥ 38 (C) X 45 (D) X 42
U 4l T 400 H A fbar AT AR T 300 H B gorr, @ BT BT Hfrere e —

A chair was purchased at ¥ 400 and sold ¥ 300. The percentage of loss will be -

(A) 25% B) 30% (C) 35% (D) 50%
EaEEESRERN
Which of the following is correct ?
(A) SP = CP + Profit (B) SP = CP - Profit
(C) SP=CP + Loss (D) SP = Profit + Loss
ARG 981 = ..7...
Trade Discount = ....7....
(A) (List Pr icexRate) (B) (List Pr iceXlOOj
100 Rate
©) (Mj (D) 3_*1'3[ Bl ?’OAI_QS T&! (None of these)
List Price

U TR 20% ARG q1 U 5% Tebal 98] odl & | fa fbedl a¥] &1 Gl 9o T 12,000
8 O SUaT 5T ed BT —

A trader allows 20% trade discount and 5% cash discount. If the list price of an article is



39.

40.

12,000 then the selling price will be -
(A) 1,200 (B) 10,000 (C) ¥ 12,000 (D) 9,120

25%, 10% 3R 20% FATER dg BT Udhel TGl 991 & —

A single equivalent to the successive discounts 25%, 10% and 20% is -

(A) 81% (B) 18% (C) 55% (D) 50%
I8 It O ol AR fadbar & d9 TR BT R BRAT & SY o P FEd © |
(A) TTER (Debtor) (B) @FER (Creditor)

(C) <llel (Broker) (D) 371'3[ Bl EbT%‘ BEl (None of these)



Answer Keys
Subject - Commercial Arithmetic

Class - XI
Set - 1

Q.| ANS Q| ANS | Q| ANS | Q| ANS
1 C 11 A 21 A 31 A

2 B 12 D 22 D 32 A

3 A 13 A 23 C 33 B

4 B 14 A 24 A 34 A
5 A 15 B 25 A 35 A
6 C 16 B 26 C 36 A

7 A 17 B 27 C 37 A

8 D 18 A 28 B 38 D

9 A 19 C 29 A 39 B
10 C 20 D 30 B 40 C




